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HOMEWORK NO. 3
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“where bi and b2~are the fundamental translation vectors of the reciprocal

lattice corresponding to the direct lattice defined by




. ‘ | . . T ‘
| 121’8 % e ‘”)f’& Mm f—.(L “&%/y@«m =
6:( éjla) |

23) °

' l (zs)l /6(1 )/ , g
/G(zs) \FT) +(é77) - 77' /é + 34_. B
G’(u) //;’9 +( = .f.__{_é_

f”‘(ab +Z”")
ce & = . B}

o 73’"/(% + 34

2(b*+32Y

; V@L" F9a%)( b+«

el B =

#&:Ce

» . ST 2
' (e) Fol %4(4 ’)/“e‘"’“/ G(e,) 4'5 +l “”/ ‘)
fmn:(&fre | G_Z) = (zr H)
U‘@ Lo Ha Mzm %ﬁe(@/)/)&«m{
#\( (/f?f)f»&v\i | ,




—> —>
: &(llt) ’ %4/‘)

(Gl 1G]

a* b

R i 2a°
‘/[(ILL *+a) (b +4—a)j
Y

Fe #e Ui2) plans | G ;+zf (vr_ e__)

S ance !wm{ 2 bave no ﬁcmm

N
é‘
T
S~
3
I
S
v~
~

o




Problem 3 (40 ‘Z)

The primitive unit cell for Snoz is shown below.
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